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=3 e 127 112 88.2 2 1.6 13 10.2 127 100
IR -1 w 161 161 100 - — - — 161 100
3 k3] 53 51 96.2 2 3.8 — — 53 100
5 2 e 121 105 86.8 3 2.5 13 10.7 121 100
[ - 27 19 70.4 — — 8 29.6 27 100
wob x 77 77 100 — — — — 77 100
L3 H R 55 52 94.5 2 3.7 1 1.8 55 100
7 621 577 92.9 9 1.5 35 5.6 621 100
) I 41 29 70.7 — — 12 29.3 41 100
i 3 i 62 48 77.4 — — 14 22.6 62 100
I [E3] 18 15 83.3 — — 3 16.7 18 100
- y e 47 31 66 — — 16 34 47 1100
R = 11 8 72.7 — — 3 27.3 11 100
Wb & 41 41 100 — — — — 41 100
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3 I fi|  23,595| 18,705 79.3 — — 4,890 20.7 | 23,595 100
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& 90,961 | 68,519 [ 75.3 — — | 22,442 24.7 | 90,961 . 100
& H 284,925 | 257,494 90.4 1,218 0.4 26,213 9.2'| 284,925 100
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